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(behind) (ahead)

Wavelengthg of high-p

2. Compared to the correct

b. It will differ from the'correct time by
(3 seconds) (6 seconds) (9 seconds)
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itched sounﬂs, the wavelengths of low-pitched




6. Soundwaves travel fastestin
(solids) (liquids) (gases)

(...same speed in each)

7. Ifthe child's natural frequency of swinging is once each
amplitude the man should push

4 seconds, for maximum
' atarateofonoeeach, A
(2 seconds) seconds) (8 seconds)

g, Kfthemanin Questionn 7 pushes in the same direction twice as often, his pushes

(will) (will not)

be effective because
{the swing will be pushed twice as often in the right direction}

.. (everyother push will oppose the motion of the swing)

‘o, The frequency of the tuning fork is 440 hertz. ft will NOT be forced

into vibration by a sound of
(220 hertz) (440 hertz)

(880 hertz}

10. Beats are ihe result of the alternate cancellation gnd reinforcement of two sound waves of
(the same frequency) (slightly different frequencies)

11. Two notes with frequencies of 66 and 70 Hzare
sounded together. The resulting beat frequency is

(4 hertz) . (68 hertz) (136 hertz)

12. The accepted value for the speed of sound in air is 3321m/s at 0°C. The speed of sound in. air
Compute the speed of sound at the tem-

increases 0.6 m/8 for each Celsius degree above zer0.
perature of the room you are now in.



